§7.4 Worksheet

Kutztown University — MAT 362

§7.4: SENSITIVITY ANALYSIS IN TRANSPORTATION PROBLEMS

1.] The optimal solution to the Transportation LP is given in the grid below. Answer the following sensitivity

questions:

a.) Determine the range of values of ¢33 for which the current basis remains optimal.
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b.) Determine the range of values of ¢15 for which the current basis remains optimal.
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c¢.) If s5 and dy are both increased by 2, what is the new optimal solution?
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d.) If s3 and ds are both increased by 3, what is the new optimal solution?
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